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Math 1211: Quiz #4 Winter 2016

Name: . %L , A Section:
&J szl + /!.2
dll = 2N d xR
1. Evaluate the following improper integrals, or show that they diverge. J
o0 R *
(2) f - = Bm - o 1402
. 1—}-:}:2 R o = J_J_Ldu
- u,..(vm‘)J 2Ju
= 3'— pm ’u. , ¥ C

R»w [_L P (15R?) .mea?]

=1 P, JiantlsC
2 R-o00 <

= o tia%
. _Qw‘ RA J. dx ZBJu:.?-a
(b) p = = ' - S 3\},7_,,_ Ju:-c’a_
svV2—=x -~ 2 3‘|
2 " - 2-;: ’ du
~m [-3 (2_2) ] =T
Rs2"| & -¢ ~V3
- -2 % [-R g7 "j“ J“
2 R>2 N ) u +C.
- 3 - 7 J
- jig»*) (2-R) 2 ( 3 )t
= &

:0.}-6:6 c—_;"hvsz”.

2. Find the area bounded between the curves y = 1 — z and y = €* over the interval [0, 2].
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Math 1211: Quiz #4 Winter 2016

Name: / @ A Section:
1. Evaluate the following improper integrals, or show that they diverge. \QJ Wz -2m
(a)/ Ie—:ﬂa,a. duw =~ adn.
du
= L. R -"M‘dﬂ_ ;-.-.sf_ euclu N =dn¢_
Ry, « ~
-am R ==le™+C ==-1p¢g +C
- e [ 3
= éa:w [ 3 | o 2
coL b e
N _.QL R —co [ & - ‘7
= =1 . Lo+l = L é =2
=2 R‘g'_:o, e T 37 T ge® e <d u-2-m
dz " du-: —da-
(b) 1 (2—z)p/? j@_m)% ~du=dm
N R da L d
= y =_J’ =, du
R-a.?_ | (-2..0!) * ™
R -4
e [ ] = - uy +C
|l £
R—a 2. ] =\7-:2'_ <l
- W
-[b Q"R d_l—. ® . = o +C.
- & -gwn ] - & = ©© WM_QQ 2 )9; '+ﬂ-
—  R-3" ya_r
2. Find the area bounded between the curves y = 1 +z and y = cos z over the igtryal [0, 7].
:S (3T"‘ 36 cl/x
o
T
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Math 1211: Quiz #4 Winter 2016

Name: SolmTlon s At : . Section:

1. Evaluate the following improper integrals, or show that they diverge.

(a) /_ ; e dx

_ |y 2V -2 &s R-—? -
- &
tlll/—;\_v 'SR c\?* P~
! 1 -7 1 R
= i ,%L—'ij = L (—Ze rJe > -_@
R -
k—3-w R k’bfurawg>

v [ &

' & l}:
= |jan S R

1

= 'y 3 —
. ‘i,\/\ ’3(2.'503“] = ,l‘a/\ (‘5(1-&\ +3 = l\}J
R>2 B St

( LoNWP_(,.FS)

2. Find the area bounded between the curves y = 1 — x and y = /1 + z over the interval
[0, 3].
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